

(a) Kumpulan discussion 1B

Question 1

(a) $y = -10x^3 - 5x^{-2} + 2$

$$\frac{dy}{dx} = -10(3)x^{3-1} - 5(-2)x^{-2-1}$$

$$= -30x^2 + 10x^{-3}$$

$$= -30x^2 + 10\left(\frac{1}{x^3}\right)$$

$$= -30x^2 + \frac{10}{x^3}$$

(b) $y = \frac{1}{2}x^{-2} - \frac{2}{x}$

$$\frac{dy}{dx} = \frac{1}{2}x^{-2} - 2x^{-1}$$

$$= -x^{-3} + 2x^{-2}$$

Simplify.

(c) $y = -5x^{-\frac{1}{15}} - 5x^{-\frac{1}{15}}$

$$= -5\left(\frac{1}{15}\right)x^{-\frac{1}{15}-1}$$

$$= \frac{1}{3}x^{-\frac{16}{15}}$$

$$= \frac{1}{3}\left(\frac{1}{x^{\frac{16}{15}}}\right)$$

$$= \frac{1}{3x^{\frac{16}{15}}}$$

$$\frac{1}{3x^{\frac{16}{15}}}$$

(d) $y = \sqrt[3]{x}$

$$\frac{dy}{dx} = \frac{1}{3}x^{\frac{1}{3}-1}$$

$$= \frac{1}{3}x^{-\frac{2}{3}}$$

$$= \frac{1}{3}\left(\frac{1}{x^{\frac{2}{3}}}\right)$$

$$= \frac{1}{3x^{\frac{2}{3}}}$$

(e) $y = \frac{2}{\sqrt{x}}$

$$= 2x^{-\frac{1}{2}}$$

$$\frac{dy}{dx} = 2\left(-\frac{1}{2}\right)x^{-\frac{1}{2}-1}$$

$$= -1x^{-\frac{3}{2}}$$

$$= -1\left(\frac{1}{x^{\frac{3}{2}}}\right)$$

$$= -\frac{1}{x^{\frac{3}{2}}}$$

$$(2) (a) y = x^{\frac{1}{10}} - x^{-\frac{1}{5}}$$

$$\begin{aligned} \frac{dy}{dx} &= \frac{1}{10} x^{-\frac{9}{10}} + \frac{1}{5} x^{-\frac{6}{5}} \\ &= \frac{1}{10} \left(\frac{1}{x^{\frac{9}{10}}} \right) + \frac{1}{5} \left(\frac{1}{x^{\frac{6}{5}}} \right) \\ &= \frac{1}{10} x^{\frac{1}{10}} + \frac{1}{5} x^{\frac{6}{5}} \end{aligned}$$

$$(b) y = x^{12} + x^7 + \frac{1}{2} x^4$$

$$\begin{aligned} y &= x^{12} + x^7 + \frac{1}{2} x^4 \\ \frac{dy}{dx} &= 12x^{12-1} + 7x^{7-1} + \frac{1}{2} (4) x^{4-1} \\ &= 12x^{11} + 7x^6 + 2x^3 \end{aligned}$$

write properly!

$$(c) y = x^3 - \frac{1}{6} x^6 + \frac{6}{4} x^8$$

$$\begin{aligned} \frac{dy}{dx} &= 3x^{3-1} - \frac{1}{6} x^{6-1} + \frac{6}{4} (8) x^{8-1} \\ &= 3x^2 - x^5 + 12x^7 \end{aligned}$$

$$(d) y = 3x - \sqrt{x} + 2$$

$$= 3 - \frac{1}{\sqrt{x}} - 1$$

$$\begin{aligned} \frac{dy}{dx} &= 3 - x^{-\frac{1}{2}} \\ &= 3 - 1 x^{-\frac{1}{2}-1} \\ &= 3 + x^{-\frac{3}{2}} \\ &= 3 + \frac{1}{x^{\frac{3}{2}}} \end{aligned}$$

QUESTION 3 (CLO3, C3)

$$y = \frac{6x^3 + 4x^2 - 2x - 2}{2x^2}$$

$$\frac{3x^2}{1x^2} + \frac{2x^2}{1x^2} - \frac{2x}{1x^2} - \frac{2}{1x^2}$$

$$3x + 2 - x^{-1} - x^{-2}$$

$$\checkmark = 2x + 2 - x^{-1}$$

$$\frac{dy}{dx} = 3 - 1(1)x^{-1-1} - 1(2)x^{-2-1}$$

$$= 3 - x - 2x \quad \# \quad \times$$

$$\frac{dy}{dx} = 2 - 2x$$

or

$$y = \frac{6x^3 + 4x^2 - 2x - 2}{2x^2}$$

$$y = \frac{3x^3}{1x^2} + \frac{2x^2}{1x^2} - \frac{1x}{1x^2} - \frac{1}{1x^2}$$

$$= 3x + 2 - x^{-1-2} - x^{-2}$$

$$= 3x + 2 - x^{-1-2} - x^{-2}$$

$$\frac{dy}{dx} = 3 - 1(-1)x^{-1-1} - 1(2)x^{-2-1}$$

$$= 3 + x^{-2} - 2x$$

$$= 3 + \frac{1}{x^2} - 2x \quad \#$$

Group Discussion 1B

- ① Faiz
- ② Angelina
- ③ Ivy
- ④ Anafasha
- ⑤ Masturina
- ⑥ Dorothy

QUESTION 3 (10/3/20)

$$2 - x^2 - 5x^4 + 8x^2 = 0$$

$$1 - x^2 - 2x^4 + 4x^2 = 0$$

$$x^2 + 3x = x^2 - x - 2 + x^2$$

$$1 - x^2(2) - 1 - x(1) - 2 = 0$$

$$x^2 - x - 2 = 0$$

$$2 - x^2 - 5x^4 + 8x^2 = 0$$

$$1 - x^2 - 2x^4 + 4x^2 = 0$$

$$x^2 - x - 2 = 0$$

$$x^2 - x - 2 = 0$$

$$1 - x^2(2) - 1 - x(1) - 2 = 0$$

$$x^2 - x - 2 = 0$$

$$x^2 - x - 2 = 0$$